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GENERAL DESCRIPTION

Paper format The paper contains five parts.

Timing 1 hour 15 minutes.

No. of parts 5.

No. of questions 65.

Task types Multiple-choice cloze,

open cloze, key word

transformations, error

correction, word formation.

Answer format Candidates may write on the

question paper, but must

transfer their answers to the

separate answer sheet within

the time limit.

Candidates indicate their

answers by shading the correct

lozenges or writing the

required word or words in a

box on the answer sheet.

Marks Parts 1, 2, 4 and 5 – each
correct answer receives 1
mark.
Part 3 – each answer receives
up to 2 marks.

STRUCTURE AND TASKS

PART 1 

Task type Multiple-choice cloze.
and focus Emphasis on vocabulary.

Format A modified cloze test containing 15 gaps and
followed by 15 four-option multiple-choice items.

No. of Qs 15.

PART 2 

Task type Open cloze.
and focus Grammar and vocabulary.

Format A modified cloze test containing 15 gaps.

No. of Qs 15.

PART 3

Task type Key word transformations.
and focus Grammar and vocabulary.

Format 10 separate items, each with a lead-in sentence 
and a gapped second sentence to be completed in 
2 to 5 words, one of which is a given ‘key word’.

No. of Qs 10.

PART 4 

Task type Error correction.
and focus Emphasis on grammar.

Format A text containing errors. Some lines are correct
but most contain an extra incorrect word which
must be identified.

No. of Qs 15.

PART 5 

Task type Word formation.
and focus Vocabulary.

Format A text containing 10 gaps. Each gap corresponds
to a word. The stems of the missing words are
given beside the text and must be changed to
form the missing word.

No. of Qs 10.

fce  examination | paper 3:  use  of  english

PAPER   

USE OF  

ENGLISH



29fce examination | paper 3:  use of  english

The five parts of the 
Use of English paper
� PART 1 – MULTIPLE-CHOICE CLOZE

In this part there is an emphasis on vocabulary.

� Sample task and answer key: pages 32 and 35.

� Each correct answer in Part 1 receives 1 mark.

Part 1 consists of a text in which there are 15 gaps (plus one 

gap as an example). Each gap represents a missing word or

phrase. The text is followed by 15 sets of four words or phrases

(A, B, C, D), each set corresponding to a gap. Candidates have

to choose which one of the four words or phrases in the set

fills the gap correctly.

Different types of words are tested in this part. Sometimes it is

necessary to choose between words with a similar meaning,

e.g. choosing ‘leaking’ rather than ‘spilling’, ‘pouring’, ‘flowing’ to

fill the gap in ‘The roof of our tent was …..’ . At other times it will

be necessary not simply to know the meaning but also to

know which word is correct because of the preposition, adverb

or verb form which follows, e.g. choosing ‘interested’ rather

than ‘keen’, ‘enthusiastic’, ‘eager’ to fill the gap in ‘You may be …..

in applying for this job’. This part of the paper also tests

collocations, such as ‘to pay attention to’, and linking phrases

such as ‘even if’. Phrasal verbs are also tested here. They may

be tested in three different ways; the whole of the phrasal

verb, e.g. ‘keep on’, just the verb itself, e.g. ‘keep’, or just the

preposition or adverb which follows the verb, e.g. ‘on’.

� PART 2 – OPEN CLOZE

The focus of this part is grammar and vocabulary.

� Sample task and answer key: pages 33 and 35.

� Each correct answer in Part 2 receives 1 mark.

Part 2 also consists of a text in which there are 15 gaps (plus

one gap as an example). However, in this part, as there are no

sets of words from which to choose the answers, candidates

have to think of a word which will fill the gap correctly. The

answer will always be a single word, never a phrase. In some

cases, there may be more than one possible answer and this is

allowed for in the mark scheme. The absence or misuse of

capital letters and punctuation is ignored, although spelling,

as in all parts of the test, must be correct.

� PART 3 – KEY WORD TRANSFORMATIONS

The focus of this part is grammar and vocabulary.

� Sample questions and answer key: pages 33 and 35.

� Each answer in Part 3 receives up to 2 marks.

Part 3 consists of ten key word transformations (plus an

example). Each question contains three parts: a lead-in

sentence, a key word, and a second sentence of which only the

beginning and end are given. Candidates have to fill the gap in

the second sentence so that the completed sentence is similar

in meaning to the lead-in sentence. The answer must be

between two and five words, one of which must be the key

word. The key word must not be changed in any way.

In this part of the paper a wide range of structures such as

reported speech, passive voice, conditionals, verb tenses and

modals is tested. In addition, phrasal verbs and lexical phrases

such as ‘to look forward to –ing’ may also be tested.

Each answer in Part 3 is worth 2 marks. The mark scheme

splits the answer into two parts and candidates gain one mark

for each part which is correct.

� PART 4 – ERROR CORRECTION

The focus of this part is grammar.

� Sample task and answer key: pages 34 and 35.

� Each correct answer in Part 4 receives 1 mark.

Part 4 consists of a text which resembles something that a

student at this level might have written. The text consists of

seventeen lines, most of which contain an error of the sort

typically made by learners at FCE level, e.g. incorrect verb

forms, wrong pronouns, prepositions and articles.

Candidates must write on their answer sheet the word which

is wrong. However, a certain number of lines do not contain an

error and in these cases candidates must put a tick (�) on

their answer sheet. The absence or misuse of capital letters is

ignored, although spelling must be correct.

The first two lines of the text are examples: one of the lines

will be correct; the other will contain an error. There are

fifteen lines which are tested.
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� PART 5 – WORD FORMATION

In this part there is an emphasis on vocabulary.

� Sample task and answer key: page 35.

� Each correct answer in Part 5 receives 1 mark.

Part 5 consists of a text in which there are ten gaps plus one

gapped line as an example. There is one gap per line. At the

end of each line, and separated from the text, there is a word

in capital letters. Candidates have to produce a new word

based on this word which can be correctly inserted in the gap

in the line.

Preparation

General
� There is a title to all of the texts in the paper. This is meant

to give candidates an early idea of what to expect from the

text. Encourage your students to read through the whole of the

text so that they have a clear idea of what it is about, before

they begin to answer any of the questions. Once they have

done this, they should begin answering the questions.

� Each part of the test has an example towards the beginning

(two examples in the case of Part 4). Students should get used

to reading these to help them understand what they have to

do. Remind them that in the examination they must not write

the answer to the example on their answer sheet.

� Sometimes candidates may think that more than one

answer is possible to certain questions. Advise them not to

give more than one answer as this may result in their losing

marks. If they do give two or more answers and all are

acceptable, they will, of course, be awarded the mark.

However, if they give more than one answer and one of them

is wrong, they will lose the mark.

� Sometimes candidates may decide that the answer they

have written is wrong and wish to change it. If this happens in

Part 1, they will need to rub out the mark they have made in

the lozenge. In Parts 2, 3, 4 and 5, they should clearly cross or

rub out the word or words. They should not try altering the

word itself as this will make it unclear. They should not put

the word in brackets as it will appear to be an alternative.

� Give your students practice in completing the answer sheet.

When transferring answers to the answer sheet, they must be

careful to make sure that they put the answer by the

appropriate question number.

� Make your students aware that correct spelling is essential

in all parts of the paper.

� Remind your students that handwriting should be clear so

that it can be read easily by the markers.

� Encourage your students to plan their time carefully and

not spend too long on any one part of the test. They should try

to make sure that they have a few minutes at the end of the

test to check through their answers. They can do the various

parts of the test in any order, but it is probably better to do

them in the order of the question paper so as to avoid the

possibility of putting answers in the wrong sections of the

answer sheet.

By part
� PART 1

� Give your students practice in recognising the differences

in meaning between similar words, e.g. ‘cut’ and ‘tear’. They

should try to learn whole phrases as well as individual words

in context, and they should be aware that knowing the

grammatical patterns and collocations of words is as

important as knowing their meaning.

� Remind your students to make sure the answer they choose

fits into the sentence. They should not choose their answer

simply after reading the words which come before the gap;

they need to read the words which follow as well. It is

sometimes the case that a preposition or adverb which follows

a gap determines which of the options is correct.

� Get your students used to reading all the options for any

question before deciding which one fills the gap correctly, and

remind them that they should never choose more than one

option as the answer.

� Make your students aware that it is important that the line

they make in the lozenge on the answer sheet for each answer

is firm and clear and done in pencil.

� PART 2

� As in Part 1, candidates need to read the words which

follow the gap as well as those which come before it. Tell your

students that they should make sure that if they are filling the

gap with a verb it agrees with its subject.

� Remind your students to keep in mind a sense of the whole

text.

� Make your students aware that they must use only one

word to fill each of the gaps. They should not fill any of the

gaps with a contraction (e.g. didn’t, he’ll), when these count as

two words, and they should never use abbreviations (e.g. ‘sthg’

for ‘something’).

� PART 3

� In preparing for this part of the paper, give your students

practice in paraphrase. This might include rewriting sentences

from texts, saying things again ‘in other words’, as well as

working on lexical synonyms and grammatical

transformations. In the examination, they must make sure

that the answer makes the second sentence mean the same as

the lead-in sentence.
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� Remind your students that the answer must consist of two,

three, four or five words. If candidates write more than five

words they will not be awarded the marks.

� Remind your students that they must use the key word in

their answer and they must not change it in any way. If they

do not use it or if they alter it, they will not be awarded the

marks.

� Make sure your students pay careful attention to any verb

in the final part of the second sentence as it will often indicate

whether to use a singular or plural noun in the key.

� Remind your students that when writing their answers,

they should not write the whole or parts of the second

sentence; they should write only the words that are needed to

fill the gap.

� When they are counting the words, students should

remember that, as in Part 2, they must count contracted words

(with the exception of ‘can’t’ = ‘cannot’) as the full form (e.g.

‘didn’t’ = 2 words ‘did not’).

� PART 4

� Students can practise for this part by reading through their

own work and that of their peers, trying to identify errors.

� Students should practise reading the text slowly and

carefully as it is very easy to overlook the addition or omission

of small words, such as ‘a’ or ‘of’.

� Remind your students that they must indicate a correct line

by putting a tick (�) in the box on their answer sheet. They

must not leave the box blank as it will be assumed that they

have simply not attempted this item.

� A sentence may be spread over several lines. Encourage

your students to read the whole sentence before deciding that

a word is wrong. Sometimes it will not be apparent that a

word early in a sentence is wrong until the whole of the

sentence has been read.

� Remind your students that they must be sure that a word

they choose as being an error is actually wrong and not simply

a word which is not vital to the meaning of the sentence but

which is nevertheless appropriate. There will never be two

wrong words in one line.

� Remind your students that the correct lines can appear in

any line of the text, including the first and last tested lines.

� PART 5

� Students should be made aware of the range of words

which can be formed from the same base word, e.g. ‘compete’,

‘competition’, ‘competitor’, ‘competitive’, ‘competitively’, and the

negative forms of these words, e.g. ‘uncompetitive’. In the

examination when they see the ‘base word’ at the end of a

line, they must not automatically write a related word which

they know well as their answer. They need to read the

surrounding sentence to decide what the missing word is.

� Sometimes the missing word will need to be in the plural,

and sometimes it will need to be in a negative form. The sense

of the text around the gap will help candidates decide if it is

necessary to put the word in the plural or to make it negative.

� Make your students aware that answers will not always

need only prefixes or suffixes to be added to a word;

sometimes they will need to make internal changes (e.g. ‘long’

to ‘length’).

� Remind your students that the base word at the end of each

line applies only to that line. They must not try to form a word

from that base word in any other line. In every case the base

word at the end of the line will have to be changed.



PAPER 3: USE OF ENGLISH
Part 1 (Questions 1–15)
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PAPER 3: USE OF ENGLISH
Parts 2/3 (Questions 16–34)
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 e

qu
ip

m
en

t w
as

 d
ev

el
op

ed
.

In
 1

71
7,

 t
he

 f
irs

t 
pr

ac
tic

al
 d

iv
in

g 
m

ac
hi

ne
, 

or
 ‘d

iv
in

g 
be

ll’
 (

22
)

...
...

...
. 

it 
w

as
 c

al
le

d,
 w

as
 in

ve
nt

ed
. 

T
hi

s

w
as

 a
 s

m
al

l w
oo

de
n 

ro
om

 w
ith

 a
n 

op
en

 b
ot

to
m

, g
la

ss
 w

in
do

w
s 

at
 th

e 
to

p 
to

 (
23

)
...

...
...

. i
n 

lig
ht

, a
nd

 a

su
pp

ly
 o

f 
ai

r 
co

m
in

g 
th

ro
ug

h 
le

at
he

r 
tu

be
s.

 S
om

et
hi

ng
 s

im
ila

r, 
m

ad
e 

of
 s

te
el

, 
is

 (
24

)
...

...
...

. 
us

e 
to

da
y

fo
r 

un
de

rw
at

er
 w

or
k,

 (
25

)
...

...
...

. a
s 

bu
ild

in
g 

th
e 

fo
un

da
tio

ns
 o

f b
rid

ge
s.

H
ow

ev
er

,(
26

)
...

...
...

. d
iv

er
s 

w
an

t t
o 

m
ov

e 
fr

ee
ly

 u
nd

er
w

at
er

, t
he

y 
re

qu
ire

 a
 s

ui
t. 

E
ar

ly
 s

ui
ts

 w
er

e 
m

ad
e

up
 (

27
)

...
...

...
. a

 le
at

he
r 

ja
ck

et
 w

ith
 a

 m
et

al
 h

el
m

et
 o

ve
r 

th
e 

he
ad

 in
to

 w
hi

ch
 a

ir 
w

as
 p

um
pe

d 
do

w
n 

fr
om

th
e 

su
rfa

ce
 t

hr
ou

gh
 t

ub
es

. 
D

iv
er

s 
ga

in
ed

 e
ve

n 
(2

8)
...

...
...

. 
fr

ee
do

m
 o

f 
m

ov
em

en
t 

w
he

n 
th

ey
 c

ou
ld

(2
9)

...
...

...
. r

id
 o

f t
he

se
 tu

be
s 

an
d 

ca
rr

y 
(3

0)
...

...
...

. o
w

n 
ai

r 
w

ith
 th

em
 in

 c
yl

in
de

rs
.

0
si

nc
e

si
nc

e

5

01
02

/3
 S

03
[T

u
rn

 o
ve

r

P
ar

t 
3

Fo
r 

qu
es

tio
ns

 3
1-

40
, 

co
m

pl
et

e 
th

e 
se

co
nd

 s
en

te
nc

e 
so

 t
ha

t 
it 

ha
s 

a 
si

m
ila

r 
m

ea
ni

ng
 t

o 
th

e 
fir

st
se

nt
en

ce
, u

si
ng

 th
e 

w
or

d 
gi

ve
n.

 D
o

 n
o

t 
ch

an
g

e 
th

e 
w

o
rd

 g
iv

en
. Y

ou
 m

us
t u

se
 b

et
w

ee
n 

tw
o

an
d 

fi
ve

w
or

ds
, i

nc
lu

di
ng

 th
e 

w
or

d 
gi

ve
n.

 H
er

e 
is

 a
n 

ex
am

pl
e 

(0
).

E
xa

m
p

le
:

0
Yo

u 
m

us
t d

o 
ex

ac
tly

 w
ha

t t
he

 m
an

ag
er

 te
lls

 y
ou

.

ca
rr

y

Yo
u 

m
us

t .
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
 in

st
ru

ct
io

ns
 e

xa
ct

ly
.

T
he

 s
pa

ce
 c

an
 b

e 
fil

le
d 

by
 th

e 
w

or
ds

 ‘c
ar

ry
 o

ut
 th

e 
m

an
ag

er
’s

’, 
so

 y
ou

 w
rit

e:

W
rit

e 
o

n
ly

 th
e 

m
is

si
ng

 w
or

ds
 o

n
 t

h
e 

se
p

ar
at

e 
an

sw
er

 s
h

ee
t.

31
M

y 
da

ug
ht

er
 r

eg
re

ts
 s

pe
nd

in
g 

al
l h

er
 s

av
in

gs
 o

n 
th

at
 c

ar
.

sh
e

M
y 

da
ug

ht
er

 w
is

he
s 

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

. a
ll 

he
r 

sa
vi

ng
s 

on
 th

at
 c

ar
.

32
T

he
y 

ar
e 

ex
te

nd
in

g 
th

is
 m

ot
or

w
ay

 b
y 

10
0 

ki
lo

m
et

re
s.

b
ei

n
g

T
hi

s 
m

ot
or

w
ay

 ..
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

.. 
10

0 
ki

lo
m

et
re

s.

33
It 

w
as

 a
 m

is
ta

ke
 fo

r 
th

e 
co

m
pa

ny
 to

 in
st

al
l t

he
 n

ew
 c

om
pu

te
r 

sy
st

em
.

sh
o

u
ld

T
he

 c
om

pa
ny

 ..
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

.. 
th

e 
ne

w
 c

om
pu

te
r 

sy
st

em
.

34
W

e 
m

en
de

d 
th

e 
ro

of
 to

 p
re

ve
nt

 th
e 

bi
rd

s 
fr

om
 m

ak
in

g 
ne

st
s 

in
 it

.

so W
e 

m
en

de
d 

th
e 

ro
of

 ..
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

.. 
no

t m
ak

e 
ne

st
s 

in
 it

.

ca
rr

y 
ou

t 
th

e 
m

an
ag

er
’s

0
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6

01
02

/3
 S

03

35
I’m

 a
fr

ai
d 

I d
on

’t 
ha

ve
 ti

m
e 

to
 g

o 
sh

op
pi

ng
 th

is
 m

or
ni

ng
.

to
o

I’m
 a

fr
ai

d 
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
. t

o 
go

 s
ho

pp
in

g 
th

is
 m

or
ni

ng
.

36
M

at
th

ew
 c

an
’t 

be
 s

ur
e 

th
at

 A
le

x 
w

ill
 h

el
p 

hi
m

 if
 s

om
et

hi
ng

 g
oe

s 
w

ro
ng

.

re
ly

M
at

th
ew

 c
an

’t 
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
. h

im
 if

 s
om

et
hi

ng
 g

oe
s 

w
ro

ng
.

37
B

y 
th

e 
tim

e 
w

e 
ar

riv
ed

 a
t t

he
 th

ea
tr

e,
 n

ea
rly

 a
ll 

th
e 

se
at

s 
ha

d 
be

en
 ta

ke
n.

h
ar

d
ly

T
he

re
 ..

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
.. 

le
ft 

by
 th

e 
tim

e 
w

e 
ar

riv
ed

 a
t t

he
 th

ea
tr

e.

38
P

au
lin

e 
is

n’
t t

ry
in

g 
to

 s
ol

ve
 h

er
 fi

na
nc

ia
l p

ro
bl

em
s 

at
 a

ll.

ef
fo

rt

P
au

lin
e 

is
 ..

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
.. 

so
lv

e 
he

r 
fin

an
ci

al
 p

ro
bl

em
s.

39
I'd

 r
at

he
r 

yo
u 

m
ad

e 
le

ss
 n

oi
se

 –
 I'

m
 tr

yi
ng

 to
 g

et
 s

om
e 

w
or

k 
do

ne
.

m
in

d

W
ou

ld
 ..

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
.. 

m
uc

h 
no

is
e 

– 
I'm

 tr
yi

ng
 to

 g
et

 s
om

e 
w

or
k 

do
ne

.

40
I s

ho
ul

dn
’t 

bo
th

er
 to

 c
le

an
 th

e 
w

in
do

w
s 

to
da

y 
be

ca
us

e 
it’

s 
go

in
g 

to
 r

ai
n.

w
o

rt
h

It 
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
. t

he
 w

in
do

w
s 

to
da

y 
be

ca
us

e 
it’

s 
go

in
g 

to
 r

ai
n.

7

01
02

/3
 S

03
[T

u
rn

 o
ve

r

P
ar

t 
4

Fo
r 

qu
es

tio
ns

 4
1-

55
, r

ea
d 

th
e 

te
xt

 b
el

ow
 a

nd
 lo

ok
 c

ar
ef

ul
ly

 a
t e

ac
h 

lin
e.

 S
om

e 
of

 th
e 

lin
es

 a
re

 c
or

re
ct

,
an

d 
so

m
e 

ha
ve

 a
 w

or
d 

w
hi

ch
 s

ho
ul

d 
no

t b
e 

th
er

e.
If 

a 
lin

e 
is

 c
or

re
ct

, 
pu

t 
a 

tic
k 

( �
) 

by
 t

he
 n

um
be

r 
o

n
 t

h
e 

se
p

ar
at

e 
an

sw
er

 s
h

ee
t.

 I
f 

a 
lin

e 
ha

s 
a 

w
or

d
w

hi
ch

 s
ho

ul
d 

n
o

t
be

 th
er

e,
 w

rit
e 

th
e 

w
or

d 
o

n
 t

h
e 

se
p

ar
at

e 
an

sw
er

 s
h

ee
t.

 T
he

re
 a

re
 tw

o 
ex

am
pl

es
 a

t
th

e 
be

gi
nn

in
g

(0
an

d 
00

).

E
xa

m
p

le
s:

W
H

E
R

E
 I 

G
R

E
W

 U
P

0
W

he
n 

I w
as

 y
ou

ng
, I

 li
ve

d 
in

 a
 p

la
ce

 c
al

le
d 

C
or

om
an

de
l i

n

00
N

ew
 Z

ea
la

nd
. I

 w
as

 b
ee

n 
ta

ke
n 

th
er

e 
by

 m
y 

pa
re

nt
s 

w
he

n 
I w

as
 a

 fe
w

41
w

ee
ks

 o
ld

, a
nd

 li
ve

d 
th

er
e 

un
til

 I 
w

as
 fo

ur
te

en
 y

ea
rs

. I
 s

til
l t

hi
nk

42
of

 th
at

 p
er

io
d 

as
 th

e 
ha

pp
ie

st
 ti

m
e 

of
 m

y 
lif

e.
 M

y 
lif

e 
w

as
 m

uc
h

43
un

co
m

pl
ic

at
ed

 th
en

 a
nd

 C
or

om
an

de
l w

as
 a

 m
ag

ic
al

 p
la

ce
. I

t

44
ha

d 
be

en
 a

 b
us

y 
go

ld
-m

in
in

g 
to

w
n,

 b
ut

 th
at

 w
as

 lo
ng

 b
ef

or
e

45
m

y 
fa

m
ily

 h
av

e 
ar

riv
ed

. B
y 

th
en

 it
 h

ad
 b

ec
om

e 
a 

ve
ry

 r
un

-d
ow

n

46
pl

ac
e.

 M
y 

fa
th

er
 w

as
 a

 d
oc

to
r, 

an
d 

pe
op

le
 w

ou
ld

 p
ay

 to
 h

im

47
in

 s
he

ep
, p

ig
s,

 h
en

s 
an

d,
 o

cc
as

io
na

lly
, t

he
 p

ie
ce

s 
of

 g
ol

d.
 H

e 
w

ou
ld

48
ha

ve
 p

re
fe

rr
ed

 p
ay

in
g 

m
on

ey
, o

f c
ou

rs
e,

 b
ut

 th
ey

 s
im

pl
y 

di
dn

’t 
ha

ve

49
an

y.
 M

y 
si

st
er

 a
nd

 I 
ha

d 
no

 m
an

y 
ca

re
s 

at
 a

ll.
 W

e 
w

en
t t

o 
th

e 
vi

lla
ge

50
sc

ho
ol

, w
hi

ch
 to

ge
th

er
 w

as
 a

tte
nd

ed
 b

y 
ju

st
 tw

en
ty

 c
hi

ld
re

n 
of

 a
ll 

ag
es

.

51
O

ut
 o

f s
ch

oo
l h

ou
rs

, w
e 

lo
ok

ed
 a

fte
r 

lo
ts

 a
ni

m
al

s 
on

 th
e 

fa
rm

s

52
ar

ou
nd

 th
e 

to
w

n,
 a

lth
ou

gh
 w

e 
di

dn
’t 

re
al

ly
 h

av
e 

a 
cl

ue
 h

ow

53
lo

ng
 to

 d
o 

it.
 C

or
om

an
de

l i
s 

a 
la

rg
e 

an
d 

bu
sy

 to
ur

is
t r

es
or

t n
ow

,

54
bu

t i
t w

as
 p

ea
ce

fu
l t

ow
n 

w
he

n 
I w

as
 a

 c
hi

ld
, a

nd
 I 

w
ou

ld

55
lik

e 
do

in
g 

no
th

in
g 

be
tte

r 
th

an
 to

 g
o 

ba
ck

 to
 r

el
iv

e 
m

y 
m

em
or

ie
s.

00
be

en

0
�
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PAPER 3: USE OF ENGLISH
Part 5 (Questions 56–65) and answer keys

8

01
02

/3
 S

03

P
ar

t 
5

Fo
r 

qu
es

tio
ns

 5
6-

65
, r

ea
d 

th
e 

te
xt

 b
el

ow
. U

se
 th

e 
w

or
d 

gi
ve

n 
in

 c
ap

ita
ls

 a
t t

he
 e

nd
 o

f e
ac

h 
lin

e 
to

 fo
rm

a 
w

or
d 

th
at

 fi
ts

 in
 th

e 
sp

ac
e 

in
 th

e 
sa

m
e

lin
e.

T
he

re
 is

 a
n 

ex
am

pl
e 

at
 th

e 
be

gi
nn

in
g 

(0
).

 W
rit

e 
yo

ur
 a

ns
w

er
s 

o
n

 t
h

e 
se

p
ar

at
e 

an
sw

er
 s

h
ee

t.

E
xa

m
p

le
:

B
R

E
A

D

I’m
 a

 g
re

at
 (

0)
...

...
...

...
of

 b
re

ad
. W

he
ne

ve
r 

I s
m

el
l f

re
sh

ly
 b

ak
ed

L
O

V
E

br
ea

d,
 it

 r
em

in
ds

 m
e 

of
 m

y 
ea

rly
 (

56
)

...
...

...
.w

he
n 

I u
se

d 
to

 v
is

it 
C

H
IL

D

th
e 

lit
tle

 b
ak

er
y 

th
at

 m
y 

gr
an

df
at

he
r 

ow
ne

d.

A
nd

, o
f c

ou
rs

e,
 th

er
e 

ar
e 

(5
7)

...
...

...
.g

oo
d 

m
ed

ic
al

 r
ea

so
ns

 w
hy

 w
e

V
A

R
Y

sh
ou

ld
 n

ot
 fo

rg
et

 th
e 

(5
8)

...
...

...
.o

f e
at

in
g 

pl
en

ty
 o

f b
re

ad
.

IM
P

O
R

TA
N

T

B
re

ad
 c

on
ta

in
s 

ne
ar

ly
 a

ll 
th

e 
pr

ot
ei

n 
ne

ed
ed

 fo
r 

ch
ild

re
n’

s 
(5

9)
...

...
...

.
G

R
O

W

an
d 

fo
r 

ad
ul

ts
 to

 s
ta

y 
fit

 a
nd

 w
el

l. 
W

e 
ca

n 
ge

t a
 (

60
)

...
...

...
.o

f
T

H
R

E
E

ou
r 

da
ily

 p
ro

te
in

 (
61

)
...

...
...

.f
ro

m
 ju

st
 s

ix
 s

lic
es

 o
f b

re
ad

.
R

E
Q

U
IR

E

B
re

ad
, (

62
)

...
...

...
.s

om
e 

po
pu

la
r 

fo
od

s 
w

hi
ch

 a
re

 n
ot

 p
ar

tic
ul

ar
ly

 g
oo

d 
L

IK
E

fo
r 

yo
u,

 g
iv

es
 (

63
)

...
...

...
.t

o 
bo

ne
s 

an
d 

te
et

h 
w

he
n 

th
ey

 a
re

 d
ev

el
op

in
g

S
T

R
O

N
G

an
d 

ke
ep

s 
th

em
 h

ea
lth

y 
as

 w
e 

ge
t o

ld
er

. (
64

)
...

...
...

.,
 b

re
ad

 h
el

ps
 u

s
A

D
D

IT
IO

N

to
 fe

el
 (

65
)

...
...

...
.a

s 
it 

co
nt

ai
ns

 ir
on

 a
s 

w
el

l a
s 

se
ve

ra
l e

ss
en

tia
l v

ita
m

in
s.

E
N

E
R

G
Y

lo
ve

r
0

lo
ve

r

PART ONE

1 A

2 D

3 B

4 C

5 D

6 A

7 B

8 D

9 B

10 A

11 C

12 D

13 B

14 D

15 A

PART TWO

16 for

17 over

18 is/was

19 kind/type/sort

20 that/which

21 until/till

22 as

23 let

24 in

25 such

26 if

27 of

28 more/greater

29 get

30 their

PART THREE

31 (that) she hadn’t | spent

32 is being | extended (by)

33 should not | have installed

34 so (that) (the) birds |
would/could

35 (that) I’m too | busy

36 rely on | Alex to help

37 were | hardly any seats

38 making | no effort to

39 you mind not | making so

40 isn’t worth | cleaning

PART FOUR

41 years

42 much

43 �

44 �

45 have

46 to

47 the

48 paying

49 many

50 together

51 lots

52 �

53 long

54 town

55 doing

PART FIVE

56 childhood

57 various

58 importance

59 growth

60 third

61 requirement(s)

62 unlike

63 strength

64 Additionally

65 energetic
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